EARAZROREIERT — 2 N—XBISY —F 20165F986H () 6MEIMIE2H

M ASEds — Y o5%2®75AL151AKE ‘ (x42] w ‘ [Emml - |4 (&) 12000 B
[x&<£] 1 % :1,500,000 @ ~ 23 :450,000 @ ~ 337 :270,000 @ ~ 4 3 :180,000 @ ~ 5 7 :150,000 M
BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
Nppe— . SHfE— 116. -5~ . — JNNBE— (15
i g\ TR TFa—> o2 e 1(1_6)7 5-5-3 | 39.5 6 <4+735) L e
LT =T2h1 B4 T75v X FRBE%S
N o | mE 1:16. _1-2 40.2| — 1 4 JNNBE— (fa1F)
A s DAEEEREE Tt R o ’ ’ e
L:3UFCTFARY BT RZIRTE-Y =k IE—
.= N Nz : —6- - EHHEE (B
3 6175y IR o2 i 1.(127>.2 6-6-5 | 39.6 8 <4+279) fvited
R:T5v 84K BiXFHREIEA he
INA f 2 | PHEE 1:17.5 9-10-9 [89.2| — | 10 | 411 |BERET GEA)
41810 54.0 (1 1/2) G7) JO—/NILY—EZX (#%)
LA Tr747 B:O0FRKXAXAIL inprae ]
“ SHER 7. -11- . — HIEA (a45)
5 2 Ty — 4 2 oy 1(717t>5 11-11-11 | 38.9 2 ;1+257) TS B
Lexrorv/xtx B:T7VF0-X [ Eve ]
s 2 | WAHRHE 1:17.7 7-7-8  [39.9| — 5 466 | EREEEZ (ARHE)
elaliy| 71—7 54.0 (3/4) (1) |WOEF
L:xoindO— B:Fv—LT7IU-T HEBS
. FMEBEA : —1- - IWAEXR (i8HE)
7155 | TFIVTEh 20 e A ’ (i?g) eIk
:7UF—-v BE4T—-Ny IR KIFEBHIS
. . AHIES : -7 — 1EREEAL (Ma1E)
gl1l1| kLY kO—2 2 G ! AN I
24— FO0-X B:AIAULTIL—F KEHS
B2 | BARER 1:18.3 10-9-10 [40.3| — 1| 423 |BRET GHE)
97|97V 54.0 (3/4) (cp) | ) FRZFT Y-
RBALNT Ry IR B FLT7rA B 77—54
ST : 4 = ERER (A1)
10 4 a4 —% 2 Eilo 1.(159).3 2-4-4 42.5 9 (4+333) g
R:A—FK7I5r4~x B:T74IX% ]/A B
N N HEXH : -3 - KEFHSE (B
111718 TAHZALAVER % 2 54.0 (15‘;%(]-.!?) e 1 ! (4_:14) ?ﬁﬁ%;f;
RHYIRGT4 TR BILIT14F> HR&S KMEXT-T0
@ 1 — S —EBlIEf
13—7+—
2= = 5,4,7,8,3,6,11,1,10,9,2
d=zr= (5,7),8,4,3,6,(1,11),9,10,2
43—F— 5,7,3,4,6,8,1,11,10,9,2
[ N3
H OB 3 2,110 74K 3-7 580M & 3-6 1,200 3EHE 3-6-7 6,820
8 B 3 300H 3-6 3,390MH P B 3-6 3,730H K31 3-7-6 49,550
7 1309 6-7 630F B & 3-7 1,450
6 270M B 3-7 4,440

ABICOVWTRDTEEERROODE. TR LIV,




